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Father of

Four gm:.rm O:om:csm

1.1f a centre of a |
circle is O(4, 1),
~-~ the other three
" “points are lie
in the circumfer-
ence is A(-2, 9) ;
B(10, -7) C(12,
-5).IsOA=0B G = N

= 0C?

A
WO
© A(-2, 9)

Sol: Now, we have to find out the distance
between OA, OB, OC

OA=\(-Z= 2P+ @~ 12=(-6F + (87 |
=36+ 64 =100 = 10
0B =042+ (-1
=36+ 64=V100=10 ik
“oc= ,:__,Némi-méml (B3+ (617,
-Veirs=y00=10
.. OA=0B= OC
o That means these are radius of a o:o_m

.,.g.,‘ they are always equal.
T .n. ~The mid-point of the sides of a triangle ABC

R N v 1 B

Coordinate _Mﬂmg,§&__

e (RO PR D Y

are (-1, 1)
(3,4) and (-2,
3). Find the
co-ordinates
of the vertices
of the triangle.
Sol: If the mid ,.
points of the sides of a triangle ABC are
D(x4, va) E(xs, ys) F(xg yg) then the
vertices i
A= (X4 +X6 = X5, V4 + Y6 ~ V)
nI -2-3,1+3-4)=(-6,0)
= (X4 + X5 — Xg, Y4 + Y5 — Yg)
IAIA +m|va. 1+4-3)=(4,2)
= (X5+ Xg — X4, Y5+ Y6 Ya)
+421)'=(2,86) :
ates of the points which
trisect the line joining (0, -5), (-3, 4).
Sol: Let P(0, -5), Q(-3, 4) be the given points |
and A, B be the points of trisection. '

PA 1
- We :m<mﬂ0| a3

Ay Y1) D(1,1) B (% yy)

F(-2 3) E(@3,4)

C (x3, yg)

P(0,
- PA:

Imu
AQ

A* B Q(34)

=1 : 2 that means A divides
my my

PQ in the ratio 1 : 2 internally.
The coordinates of A are
[M1X2 + MaXs MY + My ‘
| my+my ° my+my

1(-3) +2(0) 1(4) +2(-5) |

1+2 S L T |
-3 4-10)_, . _ V
3 3 vn:. A) v

Now B is the middle point of A, Q
.. The coordinates of B are

T

2 2

AA+A|mv -2+ 4
2 2

VLN

v (-2, 1)

1

.._ .30 Ahiree <m;_omm of a umE:m_om_.mB

4. Area of a triangle 7 5~ Square units whose

vertices are (3, 4), hm -1) and (K, -8) then
show that K = 4.

Sol: Area of a triangle

oy .
=51 (Y2 — ¥3) + Xo(y3 — y1) + Xa(y1 JE_

.\.m == |3(-1+6) +2(-6 - 4) + K@ + 1)|

15 _ 1 |4s

. _a 20 + mx._

5K -5=15; 5K =15 +5; 5K =20
H.NIOI “K=4

taken in order are (-1,0) (8, 1) AN 2)=
respeclively, Fourth <m:mx is
A)(2.-1) B)(-2,1) C)(1,2) _uZm 1)
2. (-2, 4) point lie in i
A) First quadrant  B) Second nc‘mammn»‘
~ C) Third quadrant D) Fourth quadrant -
3. The given points are the vertices of a ©
A(4, 4 ) B(3, 5) and C(~1, -1) e
A). Right triangle B) Equilateral Smam_m,‘
C)A'B D) None ;
4.The area of the ftriangle with vertices -
(0, 0), (0, 2) and (2, 0) is R
A0 B) 1 Sq units
C) 2 Sq. units D) 4 Sg. units -
5. Father of the coordinate geometry is.
A) Sir Ronald A. Fisher  B) msmwrm_.,mf
C) G.H. Hardy D) Rene Descartes -
6. Vertices of a triangle PQR is P(5, 3),
. Q(-2,5) and R (-1, 7). Centroid is - 3
A) (1, 5) B) (3, 15)".
C) (5. 1) D) (-1, 5)

5

' the line joining (5, -2) and (9, 6) | in the .~
ratio 3: 1 is
A) (4,8) B)(-8,4) C)(8,4) o:U 8)"
8. The point on the X-axis is mpca_mﬁmznm
from (7, 6), (-3, 4) is
A)(7,0) B)(-3,0) C)(0,3)
9. The distance between (8, 4), (10, 4) is *+

Q not defined

5

.\ Coordinates of the point which - a_samm‘, .

D) (3:0).

A)-2  B)2 C) 18 D)9
10. The slope of the line joining (3, 8), (3, 5).
s 5 e
A) 0 B)-3 D)1
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Two Marks Questions

11 X2 4 y2 4+ 2gx + 2fy ~12 =0 represent a
circle with centre (2, 3) find g, f and radius.
Sol: Centre (-g, -f) = (2, 3) (given)
9=-2,f=-3

pp— R

_.m,Ecm ﬂqvu/‘mm+ﬁlou4h+m+4mnm
2. Find the value of 'K\ If the points (4, 2)

(k, —3) are conjugate with respect to the

circlex2 +y2 -5x+8y +6=0

e

%,

4+ ™prespectto S=0then S12=0

’

emwmuwﬁfsn?&uo

s T #

wa 28 = onl1|m|

3
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3. If the length of the tangent from (5, 4) to the
| circle X2 + y2 + 2ky = 0 is 1. Then find k.

| | Sol: Length of tangent from (xy, fv fo the
| circle S = 0is VS

” ..o—<m3ﬁ3m»zm:ﬂd ”vm:HA -
[ 25+16+8k=1=8k=—40=k=-5
!
$

r

K s stige

Sol: Peints (X1, y1) (X2, y2) are conjugate with

¥ 3

T
ﬁ
|

Find angle between the circles..?

Four Marks Questions

1. Find the equation of the circle with centre

(-2, 3) ocasn a chord _m:nﬁj 2 units on
3x + 4y + 4=0

Sol: Given that length of
chord AB =2
M is the foot of C
(Centre) to AB
Now AM = MB = 1
CM = distance from
centre C(-2, 3) to the |
chord 3x +4y +4=0 .
|-6+12+4| 10
.CM= ||||m 5
In the right angled szo_m >_<_O. o
AG2 = AM2 + MC2 = 1'+ 4 = 5 = (radius of
circle)2 Tk 11

- Equation of the o._,o._m, 5 (x + 22 +
(y-332=5 !
=x2+y24+4x-6y+8=0

2. Show that x + y + 1 = 0 touches the circle

xm+<m|wx+.\<+,3om:nﬁ_:azmuo_a
of contact. h

! “
||

. ‘mmqu ::2. ﬂn
By \@wﬁ

Sincer=d

Thelinex+y+1=0is S:am:»..o the given.

Sol: Centre o circle (C) = M A cirele ‘
4. Find the equation of the normal at P(3, 5) to , i w_ 2 wmw MMM ﬁ_wmcmh“ Um“” o% M,M .“”M ﬁﬁww”_%
the circle X2 +y2—10x -2y +6=0 radius of the circle (1) = — ; :
Saol: P (3, 5) is a point on the circle x2 + y2 - . . V2 vm.ﬁwsa_oc_mﬁ :HUB C to the tangent
10x - 2y + 6 = O with centre G (5, 1). distance from centre G |2, I|J = h-3 kW _ (Clp-Tlp+1)
§ Equation of the normal at P is the line : 2 2 158, 1 i
M passing through P and C L —W »Wl . ; he3pek+ Hysl
3 : .|.a 2 tn gt Xx+y+1=0isd=—uo——— 2
Ly—=5= m? JP=22x+y-11=0 4 i+l (h K) = (2 -3)
mncmno: ofnormalatPis2x+y-11=0 sidi= W . point of contact = (2 -3)
|1,| \ \ \ \ T\ \

Spzoesm VS
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f. “, # ,”,. ,__

(2 0) (0 1) (4 5) and (0 c) are
no:n<o__n then find c.
Sol: Given four points are A (2 0) B (0 $
C(4 5) and D(0 c)are concyclic

Let the equation of the citcle passing
through A, B, C is j
X +y2 +20x +2ly +¢=0

A (2 0)lieson i,
weget4+4g + ¢c=0

=49+Cc=—4 .....(1)
B (0 1) lies on it, we get
1+ 2f+c=0

2R 6 =1 L (2)

‘C4 5) is also lies on it, we get
,+m+mm+m@+§+ouo
=8g+10f+c= lmA Refbeestis {3)

By 82_8 (1), @), @ we mmE IU,W

L.\ 3

f=——Cc=—"
5538 3 :
292 mncmzoz of the circle is

) xm+<mL:Wx|IN<+E 0

ﬂvwxm+m<m ._mxlfv+,3 Q
substitute D (0 ¢) in
wxm+w<m|~wx|3<+,$m..c
1 .32-17c+14=0

Fos -1 @c-14)=

fr
.L or
(o) &
¢ = 11s not admissive and hence

A TRACB T
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